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Class 12™ Chemistry Objective Question test

1. fopat =1iforep o fgera st A=t sifdras 3
Which compound has the highest dipole moment

A. HF

B. HC1

C. HBr

D. HI
Answer:- A

2. 3log HNO3 3 olel 2t e sifcpemofiet 81 siredt 8 2

Which metal becomes inactive in concentrated HNO3?

A.Cu
B.Zn
C. Al
D.Pb

Answer:- C

3. foreaiferR3aa 3 Dol Zoflel 211 3 2
Which of the following is colourful?

A. NH3

B.N20

C.NO

D. NO2

Answer:- D

4. 93 31A Sl SIcT B HUR olal BT bl Sl ADl & :

The gas which cannot be collected above water is :

A.H2

B. 02

C. CH4

D. SO2
Answer:- D

5. J0CPIUI dcd 3
(a) &I

(b) 3TeIT]

(c) d-2aUS &b decd
(d) Sotdi A DI oIt

The transition element is:

(a) metal

(b) non-metals

(c) Elements of the d-section
(d) none of these

Ans:- ¢
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6. forgatfc1idac i 2 blol U Uere bt Avfl BT dcd oIt 3l
(a) Mg
(b) Fe
(¢) Ni
(d) Zn

Which of the following is not a first transition series element.

(2) Mg
(b) Fe
(c) Ni
(d) Zn

Ans:- a

7. 1&¢iet 1 3uRMsI Bl &;
(2) BETURR{ED b U 3
(b) e¢RAfte (ufeRRledh) b 2=u o
(c) Saomeft b U I

(d) SoTd1 3 IS olat

Dettol is used;

(a) as antipyretic

(b) as an antiseptic

(c) as antipyretic

(d) none of these

Ans:- b

8. DIelol i JRIISIDAl &
The valency of carbon is
(a) 3

(b) 4

(©1

(d)2

Answer-: b

9. Joftol T AT I 3:

The general formula for benzene is:
(a) CH

(b) C2H2

(c) CH3

(d) C6H6

Answer-: d

10. ATCIIPISC SRIFD &
(a) cliaT

(b) DU

(c) oiw

(d) Rrcaz

Malachite Ore is :
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(a) iron
(b) Copper
(c) Zinc
(d) Silver
Answer-: b

11. DU UISAST DI A &:
The formula for copper pyrite is:
(a) CuFeS2

(b) CuFeS

(c) Cu2S

(d) Cu2FeS2

Answer-: a

12. 8121 4 PDIdol DI UADJI &:

The hybridization of carbon in diamond is:
(a) sp2

(b) sp

(c) sp3

(d) dsp2

Ans- ¢

13. JeToaRT STt P fere ey uscr Agrayul RigTod fabrol f= 2
(A) IcICe

(B) urafeisr

(C) dolz

(D) cifdra

Q. Who gave the first important theory for coordination compounds?
(A) Slater

(B) Pawling

(C) Werner

(D) Lewis

Ans-: C

14. forForferf3ac 31 A dlol v &b cIaul BI IGIEITS 2
(A) sciifeier urss?

(B) K4 [Fe(CN)6]

(C) Brsul

(D) UleTel BeTeT

Q. Which of the following is an example of a double salt?

(A) bleaching powder
(B) K4 [Fe(CN)6]
(C) Hypo

(D) Potash alum
Ans-: D

15. forFoarfiRad 3t 2 dlol Blcisst dlct o8] &
(A) STt

(®)ga

(c) 3lig

(D) g3

Which of the following is not a colloidal solution
(A) water

(B) Milk

(c) gum

(D) smoke

Ans-a
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16. forFotfe1Rae 3t 31 il S 3 2
Which of the following is ether?

AWR>Cc=0
®B)R>C=0
©Rr>C

(D) o> C=0
Ans-: C

17. SId WIfD 3@ DI AiG H2S04, P AT 36 fp=IT ST 31 dt
forgotfe1iRae 31 21 lol UTd aIdl &

When formic acid is heated with dilute H2SO4, Then which of the following
is obtained?

(A) CO2

(B) CH3HSO4

(C) Jifaraiferd 3@et

(D) CO

Ans-: D

18. forgorferRae 3t 2 fap31 aca 3 4f el a2 DRID 39U A A1 S
(A) lodollsS

(B) Bfdreaiss

(C) JAhITT

(D) forer earg

In which of the following element 4f energy level fills successively
(A) Lanthanide

(B) Actinide

(C) infection

(D) Alloy

Ans-: a

19. 9ot 16 & ¢Icd DI D8l SIIFI &
(A) Scilstol

(B) DDISIol

(C) DA dcd

(D) forer engy

Where does the element of group 16 go
(A) Halogen

(B) Calcogen

(C) transition element

(D) Alloy

Ans-: b

OH N
20.CH,— CH —coon PTIUPACEMAS

(A) cifdree s

(B) 2-gIsg1afl MUGISD 3@cT

(C) UIUolIS® 3¢t

(D) 50131 3 IS ofdl

Q. IUPAC name of OH is
CH; — CH -COOH

(A) Lactic acid

(B) 2-hydroxy propanoic acid

(C) Propanoic acid

(D) none of these

Ans-: B.

21. 3D I pH JAToT Bl &
(A)2 A3 P AT
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(B) 3 A 5 D ALA

(C) 6 A 10 P AT

(D) 7.2 A 7.5 B ALA
The pH value of blood is
(A) between 2 to 3

(B) between 3 and 5

(C) between 6 to 10

(D) between 7.2 to 7.5
Ans-d

22. fdretidtel 'C' I 9RcA Hid &
(A) offq eI Ierr

(B) Il eI IGIRA

(C) Ja e adiar

(D) SIg eI &ToT

The main source of Vitamin 'C' is

(A) Lemon and Orange

(B) Banana and Pomegranate
(C) Sev and Papaya

(D) Wheat and Rice

Ans-a

23. forgorfeti3ae 31 wlol AT 912 3Iferd Faifete &

(A) JopISt
(B) ScIpIot
(©) pactst
(D) Uicter

Which of the following sugars is more palatable

(A) Sucrose
(B) Glucose
(C) Fructose
(D) Protein
Ans-d

24, JGOI AIBD BIAI 3 || is a messenger
(A) DNA

(B) RNA

(C) m-RNA

(D) t-DNA

Ans-c

25. aRY I IR 3[AAd &
(A) ALN2 Bd 02

(B) 02,CoBd N2

(C) CO2,N2 &d 02
(D)H,02Wd CI2

The main component of air is
(A) ALN2 and O2

(B) 02,Co and N2

(C) CO2,N2 and 02

(D) H202 and CI2

Ans-c

26. SF6 AcH DI MTATD2ol 3[azen &
SF6 is the oxidation state of sulfur

(A)-6

(B) +6

©) -4
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(D) +4
Ans-b

27. URI 31IR 3i1silel 1 3AfHfepRIr A dolel &
Formed by the reaction of mercury and ozone
(A) HgO

(B) Hg20

(C) HgO2

(D) HgS

Ans-b

28, forraiferiaa 9t 3 Dlof RNSIWRET ulsiul oidt 3ot 2
(A) SISAMfACT Teblaet

(B) ©Gifcl

(C) vdolct

(D) dfSTeT vemIgeT

Which of the following will not give iodoform test?

(A) Isopropyl alcohol
(B) Ethanol

(C) Ethanal

(D) Benzyl alcohol
Ans-D

29. ¥erl O SIct siuEcol 3t forrotfe1Rad It fap=1 $oIIsdt BT SURIMeT BIAT
87

(A) ATCSST

(B) SISt

(C) Soracst

(D) SRIFCSI

Which of the following enzymes is used in the hydrolysis of starch?
(A) Maltage

(B) Zymage

(C) Invertage

(D) Diastase

Ans-d

30. forwotfetRact 3 wmlol eI I foreapuur el fdcesgot b fepar b
SRI I8! 8l & ?

Which of the following metals is not extracted by the process of
electrocution?

(A)Na

(B) Al

(OMg

(D)Fe

Ans- d

31. gu i fafer b gt foreotferRaa 3 fdp=1 en ot oierel B 3 ?
Which of the following metals is refined by Hoop's method?

(A) Cu

(B) Al

(C)Fe

(D) Zn

Ans-b

32. UGol a2ol arcir ugrel 8

a material exhibiting paramagnetism
(A) H20
(B) 02
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(C) NaCl
(D) C6H6
Ans-b

33. forotfe1Rad 4 3 fopAdT qaerelicd e feD Bl
(A) SIet & 1% eI

(B) STeT 3 1% ADRA

(C) SIeT 31 1% NaCl

(D) SIet & 1% A1

Which of the following will have the highest boiling point?

(A) 1% glucose in water
(B) 1% sucrose in water
(C) 1% NacCl in water
(D) 1% urea in water
Ans-B

34. S8 31 w2 b anTficror srazen 3
The oxidation state of sulfur in S8 is
(A)+2

(B)+4

©)+38

D)o

Ans- d

35. fotaarfciiR3a 3 dlol A B

is least volatile?

(A) HaSe [
(B) HzTe

(C)HzS

(D) H20
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